T4 | Fouordathons of Mt

P Lg1Hz-g
A kZ:S
k“=2s
ra
/05DCcm”*
4 K; L &> aveq = j bareaz |3 ) ara /g
K == Il ot = dd. up® JBed= E52un"  [RH4E un®
5. /{:% Q) 9(3.5<_L\): b> arm@[rcla ’T(S) D69
“ ovec <l = bh 2 4,5
k%é_ 2.5uUn™> +fotalborvea s 7. Db‘? 4.5 = 11,569
/Lséﬁ(%)_ Bun®

é. @) i X b d (150%h) = H4(15)= 6
6 (199%)= 6(1.5) = F

Lame ls L X9 in

@ 150% =15 k=15
k*=20a5 .25 = 225 °/

vadrple e area s 4 e Hearea
’hfWWJ (“L{/"@ auea meawn eoeh clirechdn, was m/\uﬂh/)&cd

g‘lrgp r\,a_ada&lo e M\L'Lp_éq'cf b% A acale ety Q\C 2

19

o

o le fetyr - 4 - &

3.1k + DE= 35
4 + DE =35 a3
DE = a1
) b) k=2 ADEF cavea =
J2 14 »ﬂi/’ = D4 om*




Srade racho ) 5po
K= 500
K*=250000

office

1

H- (25‘0000) /m?*=jopoo cm?*
J]OO0oDD Cm %

[00083y JOO m *
| B

fr

Jarege = 4+ (QS‘OOOOD
2 H00 0000 O ?

boodges . boom*

x4




